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(3.33) J(X1, Xa) = pxz(7)J (X3, Xo)
Oo0Oo0ooooobD p0obOon

w==xl1

O0O0D0000000Davenport-HasseU D OO UOOODOOOOO0OOOOODOODOO
gboboboogogooboobod

p=U?+7V2000000003)V=pu=+13U=p=-1000000000
Hasse DO UODOO0OD0OO000O0Oe=210000p0 p0000000000000
gbbogoogobogbboogboobbuooebpobooobobogn
U0O00000000 HasseOOODOOOOOOUOOOOOOOOO0OD pO00OOO
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000000 SO045=7000000x00000000 50000 xu(7) = 4™
000000000000 300000000000

(3-34) U2J(X3:X6) = J<X37X6)7
(3.35) 137" J(x1, x4) = J(x3, Xe),
(3.36) o2 {87 T (x1, x4)} = BT (x1, x4)-

(334)00(324)0000000000000(3.3500000 (3.33)050000
00000000000(3.36)0 (3.34)0 (3.35) 0000000000 (3.34)0(3.36)
00 J(xs,x6) O 8~5J(x1,x4)0 0o00000000030000000 00
000000000(3.15) 000000 Jacobi O O Dickson-HurwitzO0 O 000 O
0040 100000000000 (3.34)0(3.36)000000000000000
00000Dickson-Hurwitz 0O OO0 OO0OO0O000O000O00000000000O
3775 J(y1,x4) 0000000 ODickson-Hurwitz0 OOOOOOOOO U,VOO0O0O

BT (x1,xa) = U +VV=T
Oogpoooopooooooogoooougooga
p=U>+7V?

0 pO Dickson-HurwitzO OO OO0 000 J(xs,x) 000000 A+ BY-700
000000000335 00000000000000000w0 Dickson-Hurwitz
000000000000000 p=02+7V20000000000p0 p0O0OOO
000000 Jacobi OO Q(ﬁ)DDDDDDDDDDDDDDDDDDDDDDD
co OO 0OO 2000000000 Q(E)DDDDDDDDDDDDD 1004d
goooood

$:ﬂ+62+64+ﬂ8+611+616
y:65+510+613+617+519+ﬁ20
0000z,y0 0o000024y=1,2y=2000000 2,902 —t+2=000
00000000000000t="%2"0000,y€ Q-0 -10000
0000BY—1=B-D)@B“+5+1)=003£1001+4"+p%=0000

x4y =61+ 67) + 1+ 6") + 587+ )
+ B L+ 57) + (L4 1) + (57 + 5
— (515+ﬁ9+ﬁ3+618+612+56>-
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y=4000004010007000000147+++5=00000
rty=—(y+7*+-+9°) =1

HEN
vy =6+ (B+ 07+ +0%) +2(6" + 51) + (67 + 8-+ BT°).
1—|—ﬂ—l—ﬁ2+---+ﬂ20:O,l—i—ﬁ?—i—ﬁm:O,1+ﬁ3+56---—|—618ZODDD

ry=6—1-2-1=2.

2,y00000¢t00000¢—-t+2=00000000¢=2~000002z0
Q(v—7)00000000000000000000000000008 ™J(x1,x4)
0 J(xs;xs) 0000 Q+/—=7)000000000000000000000000
00000000000000000000000 Dickson-Hurwitz0 0000

(337) J(Xna le - 'u'nf Z b .] v ﬁn]

O00000000ooooo |7, (21))0000000000n=1,v=40000

J(X15X4) Zb J,4

00005 —78=i,0,=b(i+75,4) 0000

20

(3:38) B (x1xa) = b 4)F TS sz+754 ZW

§=0

pO0O00006, (2.7)]00

(3.39) b(i,v) = b(j,e — v — 1)
000000000[9, Lemma.1] 00

(3.40) b(j,v) = b(T}, )
0000004=160000(3.40)000000

b(i,4) = b(4i,4) = b(164, 16).
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000 (339000000
b(16i,16) = b(16i,21 — 16 — 1) = b(16i,4).

goo

Vi = V16i-

doddd-:01e:000000000000

U16i = V16-16i — U475 — Udi-
godgd
(3.41) Vj = V4 = Vigi

00000i=1,2,3,59,10000000

(
V1 = Vg4 = V16

Vg = Vg = V11
(3.42) U = V12 = Ve
Vs = V20 = V17
Vg = V15 = V18

V10 = V19 = V13

\

gbbbuoogoobbbuoooobbooogooboo

20
Y oulB = v+ vi(B+ B+ B) +us(5+ 55+ 5

(3.43)
+3(8° + B° + B) + vs(8° + 57 + 57) + vr 57

4 Ug(ﬁg 4 ﬁlS 4 ﬁlB) 4 UlO(ﬁlo 4 613 4 ﬁlg) 4 U14ﬁ14.

OoOpgo0obOOoOoooOoOooboooobooboOoo

1+ 87+ p"=0
1+ +---+p%=0

000000000 1,8+p4—-42,6%,60,8+4 0500000 10000000
oooo

B+p84+ B =6+ 6+ 5 (—1- 47
= (B8+p'—p%) - 3,
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ﬁ3+66+512:_1_59_515_ﬁ18
=14 = B(-1- ") - p'(-1- §")
=1+ (B+p5" =0+ (8°+ "),
ﬁ5 —I—ﬁ” _|_520 _ ﬁ?(_l . ﬁ6 _ﬁg _512>
:_52_58_511_514
=1-3+5" - (6°+6"),
B+ 50 4+ 5% = 07+ B(=1 = 7 + B4 (—1 = ")
=—(B+8"=p") = (8°+ "),
610 +ﬁ13 _i_ﬁlg _ ﬁ(—l . 63 . 66 . 515)
=00 =0 - F(-1- )
=—(B+06 =0+ -5,
514 - _1_ 57

gbbbooodgobobod

( B+ + 81 = (B+ 5 — ) — 3

B+ 00+ B = =1+ (B4 5 = 6°) + (5° + 1)
ﬁ5+617+52011_62+ﬂ7_(ﬁ8+ﬁ11)

B+ 50+ 55 = =(B+ 5= 5) = (8°+ 81
B0+ 8%+ B0 = —(F+ 5 = ) + 5 = 57
ﬁM:_l_ﬁ?

00000000 (343) 0000000000

(3.44)

\

BT (x1, Xa) = Vo + Vs — v3 — V14 + (V1 4 v3 — vg — v10)(B + B* — 5°)
(3.45) + (vg + v19 — v — v5) 8% + (vs + v7 — V1o — v14) 5"
+ (va +v3 — v5 — v9) (B + B').

000@B43)0000 0000000y 0000000

oo {87 T (x1.x4)} = vo + vio2(B + B + 5)
+ v902(8% + 3% + B + v309(B° + 5% + 1)
+ v502(8° 4 B 4 v70987 + vgoa (87 + B + B')
+ v1002(8" + 8" + B') + vigoa B

(3.46)
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sgO0000 0 0000DO0ODOOODOODODO

U2{ﬁ+ﬂ4+ﬁ16} :ﬁ2+(ﬁ8+ﬁ11)7
o {B+ 8+ 8" =B+ 8"+ 6" = (B+8" - 5°) - b,
oo+ 80+ 82 =5+ 0+ 8% = -1+ (B+ 5" - 3°) + (85 + 8",
o {+ BT+ 50 =50+ + B =—(B+ 8 =)+ 52 - 7,
oo {37} =p"=-1-7",
o8+ B+ %} =3+ Y+ 8% =—-(B+ 6 - 8) — (8°+ 8",
02{610+613+ﬁ19} — 65+617+ﬁ20 — 1 _62 +67 - (68 +ﬁn),
o {B"} = 4"

obobooboobod

( 02{5_"54_"616} :ﬁ2+(ﬁ8+ﬁ11)
oo{ 3% + 8% + B} = (B+ B = ) — B
02{53+56+512} — _1+(ﬁ+ﬁ4_ﬁ9) + (ﬁg—l—ﬁn)
oo+ BT+ 2} = —(B+ 81 = 7)) + 52 = 5
02{57} = 514 =-1- ﬁ7
02{B° + 61 + 51} = —(B+ 5 = B°) — (8% + B81)
o + 57 + 0 =1 =52 + 07 = (8° + 67)

| oo{M} =07

00000000 (346)00000010000000DOOOOO

o2 {87 T (x1, x4)}
IU0+U10—’U3—U7+(U2+U3_U5 _UQ)(6+64_69)
+ (’Ul + U5 — Vg — Ulo)ﬁz —+ <U10 + Vg — U5 — U7>67
+ (01 + v3 — vy — V1) (B + BM).
(3.36) 0O B (x1,xa) = 02{ T (x1,x)} DO {1, 8,50, , 11} 0 Q(B)/Q O

0000003450 (343) 00000000 v,wOUOOOOOODOD1000000OO
HEN

(3.47)

(3.48)

Vg + Vs — U3 — V14 = Vg + V19 — V3 — Uy

gooo

V10 — U5 = U7 — V14.
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000000000
V1 + V3 — Vg — V19 = V2 + U3 — Vs — Vg

gooo

V1 — U2 = V19 — Us.
FOo0000oood
Vg + Vg — V1 — Vs = V1 + U5 — Vg — V19 =0

EREREEN

V1 — Uy = V19 — Us.
000000000
Us + U7 — V19 — V14 = V19 + V14 — V5 —v7 =0

gooo

V190 — U5 = U7 — V14.
ﬁSDDDDDDDDD
Vg + V3 — V5 — Vg = V1 + V3 — Vg — V1g

gooo

V1 — U2 = V19 — Us.

goodooooooboon
(349) V1 — Vg = V190 — VU5 = VU7 — V14

0000000 (345 000000000010000 vo4uvs—vs—ovu04000
Ouv +vs—vy—v,000000000820000

Vg + Vg — V1 — Vs = —(’Ul —Ug) -+ (010 —1)5) = 0,

0000

V5 4+ v7 — V19 — V14 = —(v19 — v5) + (V7 — v14) = 0,

0o0oon

UQ+U3—U5—U9:(UQ—U5)+U3—U92(Ul—U10)+U3—U9
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00003 00000000000000000 (3450000000000

5_7SJ(X1;X4) = Vg + U5 — U3 — V14 + (V1 + VU3 — Vg — U10)(ﬁ+ﬁ4 - 32+ +ﬁn)

goobogd
EIU0+U5—’U3—014
QV:?Jl—f-Ug—Ug—UlO

gooo

(3.50) BT (x1,xa) = B+ 2V (B + ' = 87+ 5% + 61)

godooooooood

B4+ 6% =B+ =5+ (B + 6"
ooo
(3.51) BT (x1, xa) = E — 2V (3 + 5 + %),

000 B +4%+4¥00000000000000

$=ﬂ9+ﬁ15+518
y =03+ 5%+ 6"

gbbObD000000000

$+y:ﬂg+56+59+512+515+618:—1
zy=3+3+8+p°+ 32+ 04518 =2

O0002,y000000000
t+t+2=0
D000000ooon

—1+y7
-2

t
r=""0000(B5)000000

V=T

1
(3.52) BT (xxa) = B =2V ——— = E+V +VV-T.
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0000pO O0OOODOO0OO0OO00OU=E+VOOOO
(3.53) B (x1,xa) = U+ VV=T
000000000000000000

(3.54) U2 +7Vi=0p

0000O0000000Dickson-Huwitz0DOOOODO0O0O U, VO p000000
00000000000 U, VOODOOOOO000000J(ys,x) 000000
000000000000 uB8J(x1,x4) = J(xs,x) 0000000p0 U, VO
00000000000000 p0 ¢00000000J(xs,x) 00000000
000000000 QW=70O0O0000000000[8, (3)]00e=2y000
Je(Xyms Xyn) = Jo(tm: Xn) 000000e =21 =7-300002 =7,y = 3,m =
,Ln=200000

J21(3,6) = J(1,2) = Jo(1, -1 — 2) = Jo(1,4).

g0 10700000
6

Jo(1,4) =) " br(j, 4)5%.

§=0
1=200 by(j,4) = br(3j,4) = b7(25,2) = b:(25,7— 2 — 1) = b7(25,4) 0 0 0

b7(174) = b7(274) = b7(47 4)
(3.59) { b7(3,4) = br(6,4) = br(5,4)
000
(3.56) }:MQAmﬁzmmAmwﬂL@wﬁwﬁ+ﬁ%

+b7(3,4)(8° + 8" + 7).
sgO0000ODOODOOOOOOO
3 6 12 _ =147
(3.57) {594—51;—518_ flzﬁ
7+ 07+ 0 = =5
gboboboooobbboooobboooon

br(1,4) + b7(3,4
J21(x3, x6) =b7(0,4) — 7(1,4) . 7(3,4)

(b7<1a 4) - b7(3’ 4))\/__7
+ 2

(3.58)
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000033500 w85 J(x1, xa) = J(x3: x6) D00 0(3.53)0 (3.58) 0000 10
y/=7000000000

(3.59) { 2U = 11(2b7(0,4) — br(1,4) — b7(3,4))

2V = pu(br(1,4) — br(3,4))
000008, (3)),[7, (2.11))000e=2y000

Je(Xymy Xyn) = Jx(Xm; Xn)

e—1
3.60 o
(3.60) J Ot Xen) = (=17 3 b, 0) 7
=0
y—1
00000000 200000 by(j,0) =Y be(j +rz,0)000

I
o

T

b7(0,4) = by (0,4) + by (7,
br(1,4) = ba1(1,4) + b (8,
b7(3,4) = by (3,4) + bay (10

4) + b21(14,4) = vy + U7 + V14
4) +b21(15,4) = U +Ug —|—U15 = U1 +U2 —I—’Ug
,4) + b1 (17,4) = v + v19 + V17 = V3 + V19 + Vs

0000000000000 (359000000

(3.61) 2U = u(2vg + 207 + 2014 — U1 — Vg — Vg — V3 — Vs — V1)
. 2V = pu(v1 + va + vg — v3 — v5 — V1p)

Obobddp=+10000p0000000,VOUOOLOOOOODOOOODOO
gboooodgn

(i) p=+1000
2V:U1+U3—U9—U10
2V2U1+02+U9—U3—’U5—010

goooooooo
4V = 2(vy — v19) + v9 — vs.

’U2—U5:’U1—U10DDDDD
4‘/:3(1)1—1)10).

oboogovio3gobooboooboobon
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(i) p=-1000

E:U0+U5—U3—U14
2V:U1—|—U3—U9—’U10

0o

2U = 2F 4 2V = 2vug — 2v14 + 205 + v1 — v19 — V3 — Vy.
0o

2U = —(2ug + 2v7 + 2014 — U1 — Vg — Vg — U3 — U5 — V1p).
gooooo

AU = 2u1 + vy + 3us — 2v7 — dvyy == 3(vy + v5 — V7 — V14) — (V] — Vg — V7 + V1)
O000v; —vg—vy+v,=0000

AU = 3(vy + v5 — v7 — V14).
Joooguruo3000doooooooooooooon

p=+1= 3|V
p=—-1=3|U

goooo

000UOVO 300000 30000000000000000U0%2+72=p00
p=1(21)0000p=13)0000030000000 10000000020 V?
000000300000 10000000000000000000000000
0000 10000000003000000000000V =1@)000000
p=+1000V=03)0000000000000000000000V =1 (3)
000000wp=+10000000000000p=+1000000 p=-100
00000003|U=p=-1000000000003)V=p=+10000000
0o00o0oooooon

p=+1< 3|V

p=—-1<3|U
000000000000000000UO0VOp00000000x0p0000
0000000p=1(21)000 p0000000043 =6%47-1%,421 = 1324762
0000430 4210 p00000000p =430000 300000000000
p=4210V03000000000000000k0p0000000000000
000000000000p0000000000000000D000 HasseOODO
00oooon
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0000000 O0JacobiD0000000000000000000000000
Hasse 000 000000000000000000e=280000e=23900
0000000000000000000000000e=152400000000
10, (27),(94)]0e =2000000000 [7, Lemma 3]0 000000000000
00000000.0000000000000000000000000

oo
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